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Warm-Up

Determine whether each relation is a function.
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4 Ways to Find Slope
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Review From Yesterday

Find the slope of the line that passes through each pair of points.

1. y /¥(2| - 2. y 3. 4\ y

(0,1)
(3, )] 1" o[\ X
(0,1) o] _L- (1, -2
2] X | (o,|ul X
4 N 5. y 6 —(—L 3|J1:
{—2,|3) \ (3,1) D (3, 3}""
(-1,0) o / X
‘(lJ X (2. -3) /" [e] X
‘ .




Slope_Day4.notebook January 03, 2014

Slope and Triangles
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SLOPE Consider the line shown in the graph.

a. Draw two triangles that show the rise and the run of
the line using points A and B and points M and N.

b. Use the triangles to find the slope of the line.
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Find the slope and y-intercept of the graph
of the equation.

Y = Vax-8
m = b =
y=-X+3
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Given Two Points:

Example:

(5,6) & (3, 1)

(-2,4) (-2, 8)

(4, 3) (9, -2)

(7,8) (-15,8)
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Finding the Slope When You Have a Table

Choose any two points from the table - usually we just take the first two. Label them
the same way we did here. Check out the figure below.
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Mumber of Dollars in Savings Account

12 345 6 7 & 9101112
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Candle length (inches)
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Candle Length by Burning Time
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Find the rate of change for each linear function.
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5.
Gallons | Quarts 6. Allowance
36
ﬁ 3
&
1 : z 18
2 8 = 12
6
3 12 -
0 3 6 9121518
4 16 Age (years)

Find the slope of the line that passes through each pair of points.
7. A(1, —5), B(6, —T) 8. C(7,-3), D8, 1) 9. E(7, 2), F(12, 6)

10. G(8, —3), H(11, — 2) 11. J(5, —9), K(0, — 12) 12. L(—4, 6), M(5, 3

13
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Find the rate of change for each linear function.
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5.
Gallons | Quarts 6. Allowance
36
ﬁ L
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or 2
Find the slope of the line that passes through each pair of points. 4
7. A(1,-5),B6, -7) —& 8. C(7,-3),D8,1)—X 9. E(7. 2), F(12, G]E
10. G(8, —3), H(11, - 2) 11. J(5, —9), K(0, —12) 12. L(—4, 6), M(5, 3
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